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1. w5 Seak If Sfew : 1x5=5

Select the correct answer :

(@) PR1 RemS P-ofm e TR T 9B
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LISNED R '
For validity of F-test in ANOVA, one of
the assumptions made is
(i) TR e a1 Y71 TR LA
parent population from which
observations are ‘taken is normal

(i) FRIReAR 7oy

the observations are dependent
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(iii) Tfem TAER TR QITE oA
various treatment effects are
multiplicative in nature

(iv) ST BrS 7=
None of the above

() T FEET FrEre R S IR Fo o

In local control, by reducing
experimental error

(i) IS el R o
the efficiency of design increases
(i) SSToRR el 2 oI
the efficiency of design decreases
(i) SR TR @I R AT
EEs)
No change in efficiency of design
(iv) ST IS T2
None of the above
(o) cfor o SRR, ____ row fRfds b
[€1e 3

Latin square design is based on the
principles of

(i) BT/ randomization

(i) Sengf&/replication

(iii) = R /local control

(iv) 1] MIAII of the above
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(d) S de [ IS AW T
Randomized block design is not suitable
for

() M R SR F—TCA
large number of treatments

(i) RS A BB IR
small number of treatments

(i) R e RN BB FRCA
any number of treatments

(iv) ©°IRT HBIRCIDVR

All of the above

(e) 2°-TomAn *RwS P BomoR T

In 23-factorial experiment, the total
number of treatment combinations are

@) 6
(i) 8
(i) 9

(iv) €A <o T
None of the above
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2. S Al 2P Tew oy 2x5=10
Answer the following questions :

(a) T RoRR P ey iy TR0R
oI o |

Write down the mathematical model
used in analysis of variance in one-way
classification. :

(b) =R % I gm0
~ What is meant by experimental errorp
(c) TR v IRt R e 2
What is meant by efficiency of a design?

(d) WfPeT & *Rw ST SRR Rt

L What are the disadvantages of
randomised block design (RBD)? .

(e) T7 IR KR o |
Define orthogonal contrast.

3. ‘PRY Roms P B @ fw w411 =qq
Resmr 7o wfSermernz fr 6+4=10
Explain what you understand by ‘analysis of
variance.” State the basic assumptions in
analysis of variance.

4. R MR SuR o RemT o8 39| 4

Work out the analysis of variance for
one-way classification of data.
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5. (a) *Rre1 R o A1 A w4 1 7
Explain the basic principles underlying
the design of experiments.
4/ Or

(b) ﬂﬂ{#ﬂrﬁ%ﬁwwﬁﬂmmﬁs{m?m
qﬁmwwﬁwﬂﬁmwml 3+4=7

What do you mean by Completely
Randomized Design (CRD)? Clearly
point out the advantages and
disadvantages of CRD. :

6. (o) cafta 3o SRR 2 SO T T 1 T
APPSR o SR o R
T T 7+2+3=12
Give the layout of a Latin square design.
Also give the statistical model and
describe the analysis of variance.

YY1/ Or
(b) IEAMA oW A @ B Tz
71 1 T 0 oo I i oo Wi R
I& I 34T . 5+1+6=12
What is factorial experiment? Give an
example. Explain what are meant by

main effects and interactions in g
factorial experiment.
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